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p, :’ Calculate the length and area of the garden after 3 | S
z years and after 5 years
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ZQUATIONS FOR LENGTH ~ EQUATIONS FOR LENGTH !
s =t 1
L(t) = 2¢ + 10 L(5) = 2t + 10 E
L(3) =2(3)+ 10 :‘ L(5) =2(5) + 10 :
—_ L(t) =6+ 10 L(5) = 10 + 10 \ .I
S L(t) = 16ft _ <]
| A MO =200 BN L(t) = xt + 10
QUATIONS FOR AREA  EQUATIONS F fA:%-*@ | \
5 5§ "-’.; b, P .rate of original
A(3) = 4(3)°+32(3) + 60 |(r;t<;;ee:‘s§ time (years) length (ft)

A(3) = 36+96 + 60 = 192 ft?

A(5) = 4(5)%2 + 32(5) + 60
A(5) = 100 + 160 + 60 = 320 ft?

@ L(t)=2t+10 :
@ A®) = 4t* + 32t + 60
' AREA/LENGTH OF THE GARDEN VS TIME *jf“’ E A
' > y” L :
( A ) ‘ L(4) = 10 + (3ft)(4years)
® L( (M o {
. =10 + 12 = 22 ft
1
i ;
/ ! L) *w(t) = B3t + 10)(3t + 6)
/ 1 A(x) = 9t? + 18xt + 20xt + 60
/ i A(t) = 9t2 +38t + 60
100 i I
| 1
- y= A(4) = 9(4)* + 38 (4) + 60
Time (years) : A(4) = 144 + 152 + 60
1
! A(4) = 356 ft?
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